HawN NI71YS Y710 - NTIAY 971 NL

O"TiA

3/’)’(/\//1/'@ /4 P

www.agurim.co.il

a"on Tmya "p"nay” AMnxa Yoo At qT7 INTI [INND

3+45x(9—-1) =

16—(4+1x8) :3 =

35:5+ 3x2 =

20:4 4+ 12:2

10—3x10:5

20: (4+12:2) =

36—(12:4) x5 =

18+2x 5=

www.agurim.co.il "nmay™ anxa "omran naron” 71010 — 2Ty 9717 IXTH NN N1oxY




HawN NI71YS Y710 - NTIAY 971 XL

ﬂ"“ﬂ/a,
3/”’(»//’/'/? /4 P

www.agurim.co.il

2x(20—18:2) =

(30 +15:3):7 =

46 —[10+3(16 —4)] =

28—[26—2-(4+5)] =

45:[(12 +14): 2+ 2] =

www.agurim.co.il "nmay™ anxa "omran naron” 71010 — 2Ty 9717 IXTH NN N1oxY




